

OLASOJI OLUWABDRI C

19/ENG07/016

PETROLEUM ENGINEERING

Find the integral of the following:

$$1. \int \frac{(3x-1)}{(x-1)(x-2)(x-3)} dx$$

Solution.

$$\frac{3x-1}{(x-1)(x-2)(x-3)} = \frac{A}{x-1} + \frac{B}{x-2} + \frac{C}{x-3}$$

$$3x-1 = A(x-2)(x-3) + B(x-1)(x-3) + C(x-1)(x-2)$$

when  $x=2$

when  $x=1$

$$3(2)-1 = B(1)(-1) \quad 3(1)-1 = A(-1)(-2)$$

$$5 = -B$$

$$2 = 2A$$

$$B = -5$$

$$A = 1$$

when  $x=3$

$$3(3)-1 = C(2)(1)$$

$$8 = 2C$$

$$C = 4 \quad \therefore A = 1, B = -5, C = 4$$

$$\therefore \frac{3x-1}{(x-1)(x-2)(x-3)} = \frac{1}{x-1} + \frac{-5}{x-2} + \frac{4}{x-3}$$

$$\int \frac{3x-1}{(x-1)(x-2)(x-3)} dx = \int \frac{1}{x-1} dx + 4 \int \frac{1}{x-3} dx - 5 \int \frac{1}{x-2} dx$$

$$\int \frac{3x-1}{(x-1)(x-2)(x-3)} dx = \ln(x-1) + 4 \ln(x-3) - 5 \ln(x-2) + C$$

$$2. \int \frac{x^2+x+1}{(x+2)(x^2+1)} dx. \quad \frac{x^2+x+1}{(x+2)(x^2+1)} = \frac{A}{x+2} + \frac{Bx+C}{x^2+1}$$

$$x^2+x+1 = A(x^2+1) + (Bx+C)(x+2)$$

when  $x = -2$

$$4-2+1 = A(5) + (-2B+C)(0)$$

$$3 = 5A$$

$$A = \frac{3}{5}$$

when  $x = -1$

$$1+1+1 = A(0) + (-B+C)(1)$$

$$1 = -B+C$$

$$A - B + C = 1$$

$$\therefore C = 1+B$$

when  $x = 1$

$$1+1+1 = \frac{3}{5}(2) + (B+C) + (1+B)(3)$$

$$3 = \frac{6}{5} + 3B + 3 + 3B$$

$$3 = \frac{6}{5} + 6B + 3$$

$$0 = \frac{6}{5} + 6B$$

$$B = -\frac{1}{5}$$

$$C = 1+B$$

$$C = 1 - \frac{1}{5}$$

$$C = \frac{4}{5} \quad A = \frac{3}{5}, B = -\frac{1}{5}, C = \frac{4}{5}$$

$$\therefore \int \frac{x^2+x+1}{(x+2)(x^2+1)} dx$$

$$\int \frac{x^2+x+1}{(x+2)(x^2+1)}$$

$$= \frac{3}{5} \left( \frac{1}{x+2} \right) + \left[ \frac{-\frac{1}{5}(x) + \frac{4}{5}}{x^2+1} \right]$$

$$= \frac{3}{5(x+2)} + \frac{-x+4}{5(x^2+1)}$$

$$x^2+x+1 dx = 3 + 4-x$$

$$(x+2)(x^2+1) \quad 5(x+2) \quad 5(x^2+1)$$

$$\int \frac{x^2+x+1}{(x+2)(x^2+1)} dx = 3 \int \frac{1}{x+2} + \frac{4-x}{5} \int \frac{1}{x^2+1}$$

$$\therefore \int \frac{x^2+x+1}{(x+2)(x^2+1)} = \frac{3}{5} \left( \ln|x+2| + \frac{4-x}{5} \tan^{-1} \left( \frac{x}{1} \right) \right) + C$$

$$\therefore \frac{3}{5} \ln|x+2| + \frac{4-x}{5} \tan^{-1}(x) + C$$

$$3. \int \frac{x^2+1}{(x-3)(x-2)^2} dx = \frac{A}{x-3} + \frac{B}{x-2} + \frac{C}{(x-2)^2}$$

$$x^2+1 = A(x-2)^2 + B(x-3)(x-2) + C(x-3)$$

when  $x=3$   
 $10 = A(1) + B(0)(1) + C(0)$

$$10 = A \therefore A = 10$$

when  $x=2$   
 $5 = 0 + B(-1)(0) + C(-1)$

$$5 = -C \therefore C = -5$$

when  $x=1$   
 $2 = 10(1) + B(-2)(-1) + (-5(-2))$

$$2 = 10 + 2B + 10$$

$$2 = 20 + 2B$$

$$-18 = 2B$$

$$B = -9 \therefore A = 10, B = -9, C = -5$$

$$\therefore \int \frac{x^2+1}{(x-3)(x-2)^2} dx = 10 \int \frac{1}{x-3} dx + (-9) \int \frac{1}{x-2} dx + (-5) \int \frac{1}{(x-2)^2} dx$$

let  $u = x+2$

$$\frac{du}{dx} = 1 \therefore du = dx$$

$$= 10 \ln|x+3| - 9 \ln|x+2| - 5 \int \frac{1}{(x+2)^2} dx$$

$$\int \frac{1}{(x+2)^2} dx = \int \frac{1}{u^2} du = \int u^{-2} du$$

$$= \left[ \frac{u^{-2+1}}{-1} + C \right]$$

$$= -u^{-1} + C$$

$$\int \frac{1}{(x+2)^2} dx = -(x+2)^{-1} + C$$

$$\int \frac{1}{(x+2)^2} dx$$

$$= 10 \ln|x+3| - 9 \ln|x+2|$$

$$- 5 \int \frac{1}{(x+2)^2} dx$$

$$= 10 \ln|x+3| - 9 \ln|x+2| - 5 \left[ -(x+2)^{-1} \right] + C$$

$$\therefore \int \frac{x^2+1}{(x-3)(x-2)^2} dx = 10 \ln|x+3| - 9 \ln|x+2| + \frac{5}{x+2} + C$$

4.  $\int \frac{x^3+x^2+x+1}{x-1} dx$

$$\frac{x^3+x^2+x+1}{x-1}$$

$$x-1 \overline{) x^3+x^2+x+1}$$

$$\underline{x^3-x^2}$$

$$2x^2+x+1$$

$$\underline{-2x^2-2x}$$

$$3x+1$$

$$\underline{-3x-3}$$

$$4$$

$$\int \frac{x^3+x^2+x+1}{x-1} dx = \int (x^2+2x+3 + \frac{4}{x-1}) dx$$

$$= \int x^2 dx + \int 2x dx + \int 3 dx + 4 \int \frac{1}{x-1} dx$$

$$= \frac{x^3}{3} + \frac{2x^2}{2} + 3x + 4 \ln|x-1| + C$$

$$= \frac{x^3}{3} + x^2 + 3x + 4 \ln|x-1| + C$$

3